
20.30.1018.01

شھادة الضمان ودلیل المستخدم



-2-

3 / 33 / 1 3 / 2

3 / 1

13.07.01.110 x 1013.07.01.108 x 10 13.01.01.111 x 4
Ø8

13.07.01.076 x 16

M6X45
13.03.01.037 x 6 13.03.01.027 x 2

M6X25
13.03.01.021 x 56
M6X13

13.07.01.016 x 1 13.07.01.422 x 2

13.01.01.248 x 12

18.00.2000.212 x 4

13.06.01.126 x 2

13.03.01.029 x 2
M4X27

18.30.1018.055 x 2 18.30.1018.056 x 3

18.30.1018.068 x 1 18.30.1018.071 x 1

18.30.1018.202 x 218.30.1018.060 x 1

13.02.01.001 x 8

3,5X16

13.03.01.007 x 4
M4X13

13.05.01.008 x 4 13.03.01.068 x 2
M6X20



-3-

3 / 2

18.30.1018.051 x 1 18.30.1018.052 x 1

18.30.1018.053 x 1 18.30.1018.054 x 1

18.30.1018.057 x 1

3 / 3

18.30.1018.058 x 2

18.30.1018.063

18.30.1018.066

18.30.1018.067

18.30.1018.065

18.30.1018.064

18.30.1018.062

18.30.1018.074 x 2

13.03.01.021 x 24

13.01.01.248 x 12

13.03.01.021 x 16
M6x13

18.00.2000.212 x 4

18.30.1018.055 X 2

1

!

18.30.1018.061 x 2

M6X13



-4-

2

3

13.03.01.021 x 8
M6x13

18.30.1018.055

18.30.1018.055

18.30.1018.051

13.03.01.021 x 8
M6x13

18.30.1018.052



-5-

4

5

18.30.1018.056

18.30.1018.056

18.30.1018.056

18.30.1018.054

13.07.01.076 x 8

13.02.01.001 x 4

13.05.01.008 x 2

FRONT

2
1234

1
1 2 3 4

FRONT

13.05.01.008

3,5X16

13.07.01.108 x 5



-6-

6

7

18.30.1018.057

!

13.07.01.110 x 10

13.01.01.111 x 4

18.30.1018.060

18.30.1018.053

13.07.01.076 x 8

13.02.01.001 x 4

13.05.01.008 x 2

FRONT

2
1234

1
1 2 3 4

FRONT

13.05.01.008

3,5X16

13.07.01.108 x 5



-7-

5x

18.30.1018.053

18.30.1018.054

18.30.1018.060

18.30.1018.057

8

5x

18.30.1018.058 x 1

10 4x

9



-8-

11

18.30.1018.202

18.30.1018.202

18.30.1018.068

18.30.1018.071

13.07.01.016 x 1

13.03.01.027 x 2

12

M6x25



-9-

13

13.03.01.037 x 6

13.07.01.016 x 1

13.03.01.068

13.03.01.068

13.03.01.037

13.03.01.037

13.03.01.037

13.03.01.037

13.03.01.037

13.03.01.037
18.30.1018.068

18.30.1018.071

14

18.30.1018.061 x 2

8x

M6X45

M6X45

M6X20

M6X20

M6X45

M6X45

M6X45

13.07.01.422 x 2

13.03.01.068 x 2
M6X20



-10-

15
18.30.1018.058

4x

16

!

13.02.01.029 x 2

13.06.01.126 x 2

M4X27

M4X13

13.03.01.007 x 4



-11-

2

1

Click
2x



-12-

M4X13
13.03.01.007 x 4

1

!



-13-

18.30.1018.058

4x

8x

13.07.01.016

13.03.01.037
13.03.01.068

3

2



-14-

13.07.01.016 x 1

13.03.01.027 x 2
M6x25

18.30.1018.056

18.30.1018.056

18.30.1018.056

5

4



-15-

13.03.01.021
M6x13

13.01.01.248

13.03.01.021
M6x13

18.30.1018.052

18.30.1018.055

18.30.1018.055

18.30.1018.051

13.03.01.021
M6x137

6



-16-

18.30.1018.055

18.30.1018.055

18.30.1018.051

13.03.01.021 x 8
M6x13

18.30.1018.052

13.03.01.021 x 8
M6x13

9

8



-17-

10

!

18.30.1018.056

18.30.1018.056

18.30.1018.056

11



-18-

12

12x

18.30.1018.061

18.30.1018.061

18.30.1018.058

13

18.30.1018.074 x 2

!

M4X13
13.03.01.007 x 4



-19-

!



-20-


